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Black to move and escape checkmate.

(12)(3456789) —1 capture
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(10 11) (1213 14 1516 17 18 19) — 2 captures

a b c d e £ =3 h
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a b c d e £ =3 h
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(10 11) (1213 14 1516 17 18 19) — 2 captures

a b c d e £ =3 h

(20 21 22 23 24 25) (3456 7 8 9) — 1 capture

a b c d e £ =3 h
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(26 27 28 29 30 31 32 33) (34 35 36 37 38) — 1 capture

a b c d e £ =3 h

s W 8

(3940414243) (34567 89) and (20 21 22 23 24 25) (44 45
46 47 48) — 4 captures

a b c d e f =3 h
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Captures (11 total)

Fill in the numbered blanks above into the chessboard below. (The spaces with — are
not used in any way.)

— — — 434241 — —
— — — 4440 39 — —
— 37 38 45 46 10 12 —
36 34 33 31 30 47 11 13
3 35322829 48 16 14
24 2724 23 22 17 15
I 5 262520 21 18 19
6 78 9 — — — —

Depending on a term variation, your answer may contain a letter W. If that happens,
change the W to an L.
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